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ZetH= Top 5 1D 1W(Avg) 1M Trend £9lE TOP 5 1D 1W(Avg) 1M Trend
1 H2|= CDSE|EXETN 884 302 o2lx ol A 2X 0|3 x430E ETN(H) 2.78% 1.49%
2 Oi2|= 2ef2|X] 0]=x30 ETN(H) 862 426 H2| = el A 2X Oj=x{10H ETN(H) 0.99% 0.09%
3 ml2|= 3X 2tf2|X] {30 ETN 704 663 H2|x QI A 3X 2X§30 ETN 0.80% 1.06%
4 t2|= A 3X X430 ETN 45 50 2| = el 0j=A§30E ETN(H) 0.57% 1.51%
5 oj2l= 2| x| O|=xH10E ETN(H) 31 53 H2|x QI A 3X 2X410 ETN 0.42% 0.34%

EHl: pp

| XXA ZHEH T YTM YIM(%) 1D 1M Chg BEI (Break-Even Inflation) ey o=
H2|= QI o|d FxY ETN Al2|= 061 -0.05 002 BEl (==X-E7IX 22|) =2 2.96 243
Halx 2104 ETN A2l = 358 -006 -0.10 il | 0.01 0.00
H2l= Ix30E ETN Al2|= 339  -004 -0.06 271 ¢z f=AE 24 20244 48
H2|x 2R3 ETN Al2]= 344 003 -0.03 CcPI7|&¢ 20244 28
H2|x 25 ETN Al2|= 350 -0.03 -0.08 X 0.217%| 0.506%
2= oj= E0|d I ETN(H) Al2] 216 -0.07 -0.20 Astrt 71| 2.605% | 6.071%
olal= o= 10 ETN(H) Al2l= 459 -007 -0.31 *ot/0| =X 10 A S0l =X K| L 2|2 Y = 2 22| K HE
H2|x 0|=2xH30'E ETN(H) Al2|= 470 -005 -0.27
2| X KAP 37H& St ETN 345 0.00 -0.00
2| = KAP 67H& St ETN 342 0.00 -003
ol2|= KIS 1 St ETN 343  -001 118
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M 43 U SE(YTVM)
e F=3E =9 HIS Zal(yTn M YUChH|
KR103503G865 27}01750-2806(18-5) 20% 0.292 -0.030
KR103503GA66 £7401125-3006(20-5) 30% 0.592 -0.040
KAP 2IZ2|018 =1 TR x| KR103503GC64 27}01625-3206(22-6) 50% 0.757 0.055
= - - ° N v
(HI2| X AE o] ™ I ETN A2|=)
Rl (ZIZRpA B 100%  0.615 -0.046
KR103502GC65 =103375-3206(F122-5) 8% 3.582 -0.055
KR103502GCC8 =104250-3212(F122-14)  24% 3.585 -0.057
KAP =104 TR | KR103502GD64 =1103250-3306(F1123-5)  38% 3.577 0.060
L - 4 - 0 . =V
(HI2|= =2xH10'd ETN Al2]X)
KR103502GDC6 2104125-3312(21223-11)  30% 4 -0
Klg= (ZIERHE Ha) 100%  3.576 -0.059
KR103502GC99 =103125-5209(F122-9)  20% 3.402 -0.043
KR103502GD31 =1103250-5303(F123-2)  30% 3.392 -0.043
KAP =230 TR | KR103502GD98 =103625-5309(F1123-7)  50% 3.385 0.037
L - 4 - o . =V
(M| = Zx430d ETN A2 =)
Rl (7| ERpA B 100%  3.391 -0.040
KR103501GC66 =1103125-2506(F1122-4) 8% 3430 -0.035
KR103501GCCO =104250-2512(F122-13)  24% 3435 -0.035
KAP =34 TR X+ KR103501GD65 21103125-2606(F1123-4)  38% 3447 0.033
L - L - o K =V
(HI2|= =2xH3'E ETN Al2|X)
KR103501GDC8 2103875-2612(21123-10) 30% 3 -0
Rl (ZIZ=RHA EH) 100% 3438 -0.034
KR103501GC90 =103125-2709(F122-8)  20% 3.480 -0.032
KR103501GD32 =1103250-2803(F123-1)  30% 3.492 -0.033
KAP =5\ TR X+ KR103501GD99 =1103500-2809(F1123-6)  50% 3.510 0.030
L - L - o o =V
(HI2|= 2xH5'E ETN A2 X)
Rl (ZIZ=RHA EH) 100%  3.499 -0.031
US91282CEZ05 TIPS 0 5/8 07/15/32 8% 2.121 -0.078
US91282CGK18 TIPS 1.125 01/15/33 24% 2.178 -0.078
KAP 0= Q122011 =4 TR XI5 A2IZ) US91282CHPY5 TIPS 1.375 07/15/33 38% 2.136 0.063
— . 0 . =V
(H2|= o]z e E2[o] X ETN(H)
US91282CJY84 TIPS 1.75 01/15/34 30% 2 -0
X4 (7| £ XM ) 100% 2157 -0.073




US91282CHC82 T 33/8 05/15/33 20% 4592 -0.069
US91282CHT18 T3 7/8 08/15/33 30% 4592 -0.069
KAP D =#108 TR |- $91282C)J18 1/2 11/15/33 09 89
u 1) T41/211/15/ 50% 45 -0.068
(2= o0]=x{10d ETN(H) Al2|X)
Rl (ZIZ=RHA H) 100%  4.590 -0.068
US912810TR95 T 35/8 05/15/53 20% 4713 -0.055
US912810TT51 T 4 1/8 08/15/53 30% 4708 -0.056
KAP O[=XH30d TR X| $912810TV08 3/4 11 3 09 69
u TV T 43/411/15/5 50% 4697 -0.055
(HI2|= 0]=x{30'3 ETN(H) Al2|X)
R|== (ZIZ=RHA H) 100%  4.704 -0.055
KR310101GC79 £0003330-2407-02 40% 3.450 0.000
KR310102GD77 £0H03600-2407-01 30% 3.450 0.000
o

KAP Sotxf 370 &+ X5 — —_
KR310104AE39 £ 0tDC024-0625-0910 30% 3.450 0.000
R|4= (7| =Xt BR) 100%  3.450 0.000
KR310101GCA2 £0t04120-2410-02 40% 3420 0.000
KR310101GD94 £0003670-2409-01 30% 3.425 0.000

o

KAP SHi 670 S+ X — —
KR310101GDB8 £0t03730-2411-01 30% 3415 0.000
R|== (ZIZ=RHA H) 100% 3420 0.000
KR310102GC37 £0+02320-2503-03 40% 3.392 -0.010
KR310101GE36 £0H03410-2503-01 30% 3475 -0.010

KIS SOHH 110 F59X| 4 —
KR310101GD45 £0+03280-2504-02 30% 3415 -0.001
Rl (ZIZ=RHA EH) 100% 3427 -0.007




